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MATHEMATICS

T : 3 90¢ | [gufs : 80
Time : 3 Hours ] [ Max. Marks : 80

ffer: () 39 Te-uA A o 27 v &1 welt e sifterd
Directions : There are in all 27 questions in this question paper. All questions are
compulsory.
(i) w1 &g FreiRa 3ie 371 wwgR sifed
Marks alloted to the questions are mentioned against them.
(jif) ST T2 P EAYde Ufed e g TR alfoel
Read each question carefully and answer to the point.
(iv) 72T e 1 sgfasedra e 2 3 7 & T WUS P IR § IR fawed
& e &) wR fase s stRyRas # folael
Question No. 1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your
answer book.
(v) 5o T 1 BT Td WUS B 37 Bl 2| Ve 61 2 | 9 T U 37 &
e & v G110 A 16 b &Y 370 &b YT & | T |1 17 | 21 76 AR
3% & U & T G¥T 22 27 b Ui 3id & W &
Each part of question No. 1 carries one mark. Question No. 2 to 9

are of one mark each. Question No. 10 to 16 are of two marks
each. Question No. 17 to 21 are of four marks each. Question No.

22 to 27 are of five marks each.
(vi) 3 -0 & G0 R 1S dhed 78] & qiy Siua ye=i # 3aRa fddbed
vere fbar T &1 3 vt § dad ve ey o 8 IR alfel

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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1. () P g Ry d=n e : 1

In the following irrational numberis :

(i) 0.125 (i) 242 (i) 243 (iv) V2 -8
(W) §g9E x2 -3 & YLD BT ANTBeT &N : 1
Sum of zeroes of the polynomial x? -3 will be :
(i) O (i) 243 (i) 3 (iv) -3
(1 afE e TR AU & nat Ug 3n+1 &, O $HeT 847 Ua &N - 1
If the nt" term of an A.P. is 3n+1, its 8% term will be :
(i) 23 (i) 24 (i) 25 (iv) 26
(&1) HFc\'sinA=%FﬁcosA$TTﬂ=rﬁTﬂr 1
If sinA = %, the value of cos A will be :
1
i o i) 5 i) 75 (iv) -‘/23

(%) g3t (4, 5) 3R (6, 9) B et amett ¥ & wea g & e & 1

The co-ordinates of the mid point of the line joining the points (4, 5) and

(6, 9) will be :
i (1,2) (i) (5,7) (i) (5, 2) (iv) (1, 7)
(@) & wey Brysi & Ge 4 ¢ 9 % 3T # €1 5 Pregsti & el B1 JrguTd &R

]

Sides of two similar triangles are in the ratio 4:9. Areas of these triangles
will be in the ratio :
(i) 2:3 (i) 4:9 (i) 81:16 (iv) 16:81

(®) e fama TNEROT x2+kx—-6=0 BT T TeT 1 &, & k BT A4 &Nl : 1
If one root of the quadratic equation x?+kx-6=0 is 1, the value of k will
be:
i 2 (iiy 3 (i) 5 (iv) 6
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(37) TP TR B TP SR T S &1 U TH G W 81 bt wfdasen Rl 1

A die is thrown once. The probability of getting an even number will be :

M 3 (i 3 (i) 3 V) g
q&ﬁamz—gz—zmmmmémmaﬁ?ﬁ@ 1

23
The decimal expansion of the rational number 2352 is terminating or a

non-terminating repeating.
e TEROT axt+bx+c=0 & Gl @Y BT FaT BN Ald b-4ac=0 ? 1

What will be the nature of the roots of the quadratic equation ax*+bx+c=0, if

b?-4ac=0 ?

FATR A0 2, 4, 6, 8, === &1 ndl Ug FIT BHTTP 1
What will be the nt term of an A.P. 2, 4, 6, 8, ------ ?

fog (3, 4) Y x-3787 | g T ANAI? 1
What will be the distance of the point (3, 4) from x-axis?

Ik v g B uRTE 6n A &, A 3@ rsar o Eni? 1
If the circumference of a circle is 6x cm, what will be its radius?

771 % TR Rera 5ot g & g R Tt et Y il o et € 1
How many tangents can be drawn to a circle from a point lying out side the
circle?

31idal 4, 6, 3, 8, 2, 7 T AIET AT &NII? 1
What will be the mean of the data 4, 6, 3,8,2,77?

frafRag & ™ 31icst &1 WTeTD T &7 1

What is the median of the following given data?
14, 15, 18, 21, 25, 27, 31, 35; 38.
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10.

B

12;

13.

14.

15.

mmﬁ%mgﬁﬁaﬁm,waﬂ?mmmMaﬁaﬁ%m 2

Find the LCM of the integers 12, 15 and 21 by using the prime factorisation
method.

R TR xe+x—-6=0 & T T DI 2
Find the roots of the quadratic equation x?+x-6=0.

feamge 1% - 2
Show that :

tan 48° tan 23° tan 42° tan 67° =1

frgait (5, -6) 3R (-1, —4)aﬁ3ﬁsﬁmﬁ@waﬂ-3¢&1ﬁma§mﬁﬁnﬁﬁm
a? 2
In what ratio the Y-axis divides the line segment joining the points (5, -6) and
(=1, =4)F

& par gt o Frsare 5 J e 8 F T &= 79 B 39 a1 B AT S Do
S e ga o Wl Rl &l 2

Two concentric circles are of radii 5 cm and 3 cm. Determine the length of the
chord of the larger circle which touches the smaller circle.

3rRME / OR

wﬁaAﬁ,ﬁruasqaas%ﬁa'@rsﬁqﬁw’s‘,qaq?ws‘fma?rméctﬁﬁ
e o B T BiTel

The length of a tangent from a point A, at distance 5 cm from the center of the
circle, is 4 cm. Determine the radius of the circle.

E?rn?i’ra@%ﬁu%PQnRs%,?ﬁﬁaa%%U%AP0Q~A50R%l 2

In the given figure, if PQ|[RS, prove that A POQ ~ ASOR.

R
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16. v I F 3 7T 3R 5 Frew W F1 3w A A 3 v e ageman et F 81 9!
wiftrear a1 & 1% e ot &P 2
In a bag there are 3 red balls and 5 black balls. A ball is drawn at random from

the bag. What is the probability that the ball drawn is red?
3@ / OR

52 Uat P 378! FBR W He) T v T F F veb T BT ST &1 et 347 & SeRE
@ YT B Bl WTedT 51 DIt
One card is taken out from a well-shuffled deck of 52 cards. Find the probability

of getting a king of red colour.

17. FrefeRaa wiia=on & g o1 &6 BT - 4
Solve the following pair of equations :

2 By

<7

Wy

4.9 _4

Ky

18. U YA vd THM @1t A 360 fobt Y A T vt 81 afE ag A 5 foH/eer siftrs
AN, A 98 0 AT F 1 U1 HH GHT AT | IS B AT 1 Dbiore| 4

A train travels 360 Km with a uniform speed. If the speed had been S5Km/hour
more, it would have taken 1 hour less for the same distance. Find the speed of

the train.
3_dr / OR
3 o ud g o 311 (at H) o gepw 3R 319 A 5 o TEr 3 S Ly Bl AN
1
5 &1 3! qFH 3G 5 BifTe
The sum of the reciprocals of Rehman's ages, (in years) 3 years ago and 5

1
years from now is 3 Find his present age.
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19. fag oifse: 4

Prove that :

(sin A + cosec A)? + (cos A + sec A)2 = 7 + tan2 A + cot? A

20. Tfe A(-5, 7), B(-4, -5), C(-1, -6) 3R D(4, 5) ts agsT ABCD & oY &, &Y 59
TGS BT &BAT 31 DT 4
If A(-5, 7), B(-4, -5), C(-1, -6) and D(4, 5) are the vertices of a quadrilateral
ABCD, find the area of this quadrilateral.

21. v Raeltn frsar 3.5 W a1 U6 9P & HTER @1 &, 5 3K Brsan I ve ssie W
R 71 59 Raei o wvgof Sar$ 15.5 30 81 59 Rl &1 Twgof gt darset
319 S| 4

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of
same radius. The total height of the toy is 15.5 cm. Find the total surface area
of the toy.

3AJar / OR

U ¥ 3N IR U SAHIBR g # 5 FET = BT U el ST TT| S8 5 3R
&1 1T 10 T 21 TS e qota: SaT &1 & I BT W el §6 STAm?

A sphere of diameter 5 cm is dropped into a cylindrical vessel partly filled with
water. The diameter of the base of the vessel is 10 cm. If the sphere is completely
submerged, by how much will the level of water rise?

22, U F1a 10 °e H URT & Hfcigper 30 fopt aem emT & 3rgpet 44 foodt sl 21 13 6 W aw
40 TosHT &RT & Sifciget va 55 fopr eRT & 3RIeT SR &1 ©IRT @) TeT @ G Y ReR
U H e S st 5

A boat goes 30 km upstream and 44 km downstream in 10 hours. In 13 hours,
it can go 40 km upstream and 55 km downstream. Determine the speed of the
stream and that of the boat in still water.

3=dr / OR
afk R firm 8 sfer iR & 2T o 2 ST R o, A a2 @ S 21k sfer ok

&R A % 3 35 R 3T, A aw 2 & ol 1 o et s el
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A fraction becomes % , if 2 is added to both the numerator and the denominator.

If, 3 is added to both the numerator and the denominator it becomes g. Find

the fraction.

23. 1.5 10 o1 U TST 30 M0 I U6 WaT F 55 0 W weT &1 579 97 3 9T ) 3R
ST & T 36! 3iT F 9aT & R &1 392 D107 30° W 60° &Y 77T &1 Fa=E £ aw
Ha Bl 3R fba gX) de Tea T 2| 5
A 1.5 m tall boy is standing at some distance from a 30 m tall building. The angle
of elevation from his eyes to the top of the building increases from 30° to 60°
as he walks towards the building. Find the distance he walked towards the

building.
24. TH RISt ABC STIST o BC=6 ¥, AB=5 ¥ 31k ~ABC=60° 1| R v gt
2B e BifSre, st goMe AABC ot Wit gemait 2 2 T &) 5

Draw a triangle ABC with side BC=6 ¢m, AB=5 cm and ZABC=60°. Then construct
a triangle whose sides are —2— times of the corresponding sides of the triangle
ABC.

3RME / OR
5ﬁﬁm$w®wbﬁraﬁwm@ﬁ%@,aﬁwwé§mwaﬂ%ﬁ!

Draw a pair of tangents to a circle of radius 5 cm which are inclined to each
other at an angle of 60°.

25. ﬁﬁﬁ%ﬁABC%%ﬂéAéBcwgmmcha‘rﬁg D | 59 THR Wfrese
&=l & b DB=3CD 21 Rig 3w f5 2482 = 2ac2 + BC2 2| 5

The perpendicular from A on side BC of a given triangle ABC intersects BC at D

such that DB=3CD. Prove that 2AB2 = 2AC? + BC2
A
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26. T 7 4 T 20 HY TR 06 Pt et ofren & 3 @ I Fraedt g8 s 3w vy
¥ et} 22 W x 14 H T T TGEART ST AT | 3 AR B S 1 B

5

A 20 m deep well with diameter 7 m is dug and the earth from digging is evenly
spread out to form a platform 22 m x 14 m. Find the height of the platform.

31211 / OR
U Ty o fesiep, St 45 0t Far &, & R”Y Y Brsams 28 3 stk 7 390 €1 swe1 37097
ST HIfSTe| (n=37-2— &fse)

The radii of the ends of a frustum of a cone 45 cm high are 28 cm and 7 cm.
Calculate its volume. (take = = %2_)

27. TafaRea sitesi o1 agere st S : 5

Find the mode of the following data :

T 3=RTA 10-20 | 20-30 { 30-40 ({40-50 | 50-60 | 60-70| 70-80

Class interval

TRERAT 12 19 6 10 9 6 5
Frequency
% %k Xk %k %k
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